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Page 62

Problem 2.16 before the errata change

The sum of the voltages around the loop in the figure is 70V, not zero!!!

Need to re-label the voltages in the figure so that KVL is satisfied.

Page 63

Problem 2.18 before the errata change

The problem cannot be done because only one current is given in the figure.

At least two currents are needed to do the problem.

Page 64

Problem 2.30 before the errata change

Students cannot do this problem because it needs the methods of Chapter 3.

Page 66

Problem 2.41

A good problem, but in the figure, I think that the branch on the lower left should have a resistor in it, or the rest of the branches on the bottom should not have resistors in them.  It is do-able otherwise, but as it is shown, the beauty in the solution method is lost due to the loss of regularity of the circuit, because the resistor is missing.

Page 68

Problem 2.53

I would like the problem better if R(x) = kx.  We have done this experiment using both a Number 2 pencil and a wire.  The pencil has R(x) = 4+3x, x in inches, and the 4 is due to contact resistance.  This would be much more interesting than, R(x)=200exp(x), which does not seem very real.  

Also, in part a., it should say, “If the resistance Rm is 100 ohms,”

Page 81

Example 3.5

I checked the corrections, and they are correct.

Page 84

I checked the correction, and it is correct.

Page 87

Example 3.7

I checked the correction, and it is correct.

Page 89

Example 3.9

The correction for Mesh 3 is confusing.  It would be better leaving it alone and putting a minus sign in front,    -R1(I3-I1).

Also in Example 3.9, the figure (3.20) uses small letters (i) for current, while the worked out solution uses large letters (I) for current.

Page 90

Equation 3.17 and 3.18

The correction should be “minus”.

Page 95 and 96

Example 3.13

I think the original and the corrections are both wrong.  My matrix is 
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I solved the problem using meshes and nodes, and plugged each of these solutions into the other, and everything checks.  I got the gain as    
[image: image2.wmf]04

.

0

1

2

-

=

=

v

v

A

v

 .

So I guess that most of problem needs to be changed again, so that it is correct.

Page 206

Equation 5.9

The correction is correct.

Page 378

Problem 7.17

This problem either needs to give a frequency in order to determine the capacitive reactance, or the capacitance needs to be replaced by a capacitive reactance.  As it is, it cannot be done.

Page 378

Problem 7.18

Here we are given 2 frequencies to use in problem 7.17.  So once problem 7.17 is fixed, this problem may need to be changed too.

Page 381

Problem 7.30

The very small angles given in this problem are given in degrees.  I think that they are meant to be radians.

Pages 381 to 387

If at all possible, it would be great to have the old transformer problems back in.  They seem to be better than many of these.  Also, put the 3-phase delta-wye transformer back in, I love that one (.

Page 437

Figure 8.51, top
In the op amp pin outs, they are supposed to be,    pin 4 is –Vs and pin 7 is +Vs.   They are presently switched. I had a student blow up two op amps using this pin out, which was a cool demo, but not what we expected.

Page 663

I have a big black splotchy line running vertically up through all the problems on the left side???

_1106323503.unknown

_1106323713.unknown

